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iEk |  ERAHIE 4 R AFET BFEt ZFEt HEE
1| KBR AT 1431 717 714 1206
2|/ EER 977 452 525 808
3|E 4t 379 184 195 307
4| IR EBRF 190 87 103 162
5| EER 173 85 88 151
JESR 154 75 79 130
BN 89 44 45 65
8|ZHIE 63 32 31 51
IHER 60 25 35 46
10/4& M R 52 18 34 48
"M=&8 50 26 24 37
12(i5EE 44 25 19 37
13|70 LR 40 21 19 32
14| FEER 37 21 16 33
15 5% R 27 17 10 24
16| &)1 18 26 17 9 18
17|53 & 22 8 14 18
18|[LER 19 8 11 17
VERER 18 13 5 17
20| B IR 16 9 7 12
B AE QRN (T BT+t 3l - B ZEHIE)
B sn A E R L k5 = BFEt T Fit % R
11 KPR T N 882 21.5% 429 453 735 21.5%
KRR X 58 1.4% 25 33 45 1.3%
KEEHEHERX 46 1.1% 20 26 34 1.0%
PN YA 41 1.0% 21 20 38 1.1%
RirddL X 39 1.0% 21 18 34 1.0%
X Bl 7 B £ B7 X 36 0.9% 11 25 34 1.0%
KBRiFa X 36 0.9% 19 17 32 0.9%
KEFREFX 35 0.9% 17 18 27 0.8%
RERmHRX 34 0.8% 16 18 32 0.9%
R FEEFX 34 0.8% 19 15 30 0.9%
RIEHEFEZIR 30 0.7% 16 14 26 0.8%
2/ RER =R 577 14.1% 266 311 470 13.8%
3|E 45t 379 9.2% 184 195 307 9.0%
4| KR fF E W N 258 6.3% 124 134 204 6.0%
5| IR EB AT AT 77 1.9% 33 44 60 1.8%
6 ZEEE BIET 58 1.4% 25 33 50 1.5%
UEI=YS A BBl T AEET 56 1.4% 26 30 46 1.3%
7| KB AF il 56 1.4% 30 26 49 1.4%
I EER HETh 53 1.3% 26 27 43 1.3%
10| KPR AF WH™H 52 1.3% 25 27 42 1.2%
1| KR FF JNET 48 1.2% 24 24 39 1.1%
12| KPR FF KA LT 47 1.1% 23 24 41 1.2%
13| KRR AT o {EBR 46 1.1% 26 20 38 1.1%
14| SR EB T KEJH 44 1.1% 18 26 30 0.9%
15| KR FF KEH 41 1.0% 23 18 32 0.9%
16| KR AT ER)Ih 39 1.0% 22 17 32 0.9%
17| EER AEh 35 0.9% 17 18 30 0.9%
18| KR AF wA™ 34 0.8% 17 17 28 0.8%
19| ZEBE Al 33 0.8% 20 13 27 0.8%
20 ZERE 4 B R = {ARET 32 0.8% 13 19 23 0.7%
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Ee|  BRHEE S r i 5t BFEt T FEt %
1| KBR AT 1111 519 592 888
2|/ EER 1049 504 545 690
3|E 4t 339 149 190 219
4| IR EBRF 266 125 141 180
JESR 265 139 126 227
6|l ZER 239 124 115 183
BN 106 68 38 82
8|ZHIE 104 66 38 82
I FER 70 46 24 48

1W0IGEER 54 31 23 38

H=g8 52 30 22 41

12 #HER 39 14 25 33

BILEER 38 24 14 26

14|4&M R 37 18 19 32

15| LU IR 30 13 17 19

16| F0FX LR 30 18 12 25

17388 26 14 12 16

18448 23 6 17 17

19|18 21 11 10 15

20lLAR 20 13 7 16
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Ee|  BRHEES | SR THETAA Bt = BFEt T Fit % £
11 ZERE =R 691 16.6% 329 362 457 15.0%
2| K[ fiF NG 634 15.3% 296 338 524 17.2%

RKEHXEFX 53 1.3% 27 26 37 1.2%
KRR 54 1.3% 24 30 46 1.5%
RirddL X 46 1.1% 20 26 33 1.1%
AERHFERX 43 1.0% 19 24 37 1.2%
KR TR X 34 0.8% 14 20 28 0.9%
KR ERBX 33 0.8% 10 23 28 0.9%
K RERX 24 0.6% 11 13 23 0.8%
RirE)IX 20 0.5% 13 7 20 0.7%
AEHHER 18 0.4% 9 9 18 0.6%
KR REX 17 0.4% 9 8 11 0.4%
3|E 45t 339 8.2% 149 190 219 7.2%
4| KR fF E W N 139 3.3% 62 77 105 3.4%
5| IR &R AT AT 96 2.3% 44 52 80 2.6%
6| SR EB AT KiEJlH 92 2.2% 45 47 47 1.5%
UEI=YS A BBl T AEET 77 1.9% 36 41 42 1.4%
8| EER #ME™H 70 1.7% 40 30 51 1.7%
9| KPR AT i Xii] 61 1.5% 27 34 48 1.6%
10| Z5NE 2o ET 59 1.4% 36 23 36 1.2%
1ERE RFE LT 41 1.0% 22 19 28 0.9%
H|EER [EWTTH 41 1.0% 21 20 36 1.2%
B|ERE FZmh 39 0.9% 20 19 22 0.7%
13| KR FF Ehh 39 0.9% 15 24 29 0.9%
15| KRR fF WHEH 37 0.9% 14 23 31 1.0%
16| KR AF AT 35 0.8% 17 18 22 0.7%
17| ZEER BEREh 33 0.8% 13 20 27 0.9%
18| ZEB R 4 EnEf = $ARmT 27 0.7% 15 12 20 0.7%
18| KRR AF g 27 0.7% 10 17 19 0.6%
18| KBR AT JNET 27 0.7% 10 17 20 0.7%
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